

Name :

Score : Date :

Addition and Subtraction of Fractions

$$\boxed{1} \quad \frac{7}{10} + \frac{1}{2} - \frac{1}{4} =$$

$$\boxed{2} \quad \frac{3}{4} - \frac{1}{3} + \frac{1}{2} =$$

$$\boxed{3} \quad \frac{4}{6} + \frac{6}{8} + \frac{9}{4} =$$

$$\boxed{4} \quad \frac{5}{9} - \frac{1}{9} + \frac{1}{3} =$$

$$\boxed{5} \quad \frac{2}{3} + \frac{3}{4} - \frac{6}{10} =$$

$$\boxed{6} \quad \frac{4}{6} - \frac{1}{2} + \frac{5}{12} =$$

$$\boxed{7} \quad \frac{3}{5} + \frac{3}{8} - \frac{3}{4} =$$

$$\boxed{8} \quad \frac{1}{6} - \frac{1}{12} - \frac{1}{15} =$$

$$\boxed{9} \quad \frac{2}{7} + \frac{1}{4} - \frac{5}{10} =$$

$$\boxed{10} \quad \frac{5}{4} - \frac{7}{8} + \frac{9}{2} =$$

Name :

Score : Date :

Addition and Subtraction of Fractions

Answers

$$\boxed{1} \quad \frac{7}{10} + \frac{1}{2} - \frac{1}{4} = \frac{19}{20}$$

$$\boxed{2} \quad \frac{3}{4} - \frac{1}{3} + \frac{1}{2} = \frac{19}{24}$$

$$\boxed{3} \quad \frac{4}{6} + \frac{6}{8} + \frac{9}{4} = 3\frac{2}{3}$$

$$\boxed{4} \quad \frac{5}{9} - \frac{1}{9} + \frac{1}{3} = \frac{7}{9}$$

$$\boxed{5} \quad \frac{2}{3} + \frac{3}{4} - \frac{6}{10} = \frac{49}{60}$$

$$\boxed{6} \quad \frac{4}{6} - \frac{1}{2} + \frac{5}{12} = \frac{7}{12}$$

$$\boxed{7} \quad \frac{3}{5} + \frac{3}{8} - \frac{3}{4} = \frac{9}{40}$$

$$\boxed{8} \quad \frac{1}{6} - \frac{1}{12} - \frac{1}{15} = \frac{1}{60}$$

$$\boxed{9} \quad \frac{2}{7} + \frac{1}{4} - \frac{5}{10} = \frac{1}{28}$$

$$\boxed{10} \quad \frac{5}{4} - \frac{7}{8} + \frac{9}{2} = 4\frac{7}{8}$$